
24.5”

34.5”

24.5”

34.5” 24.5”24.5”

6"

18"

9

4

6
3

1

2

7
5

8

LEVEL
GROUND

ITEM NO.
PART 

NUMBER
DESCRIPTION QTY.

1 913-336 Spinner Maze Panel 1

2 913-337 Mirror Panel 1

3 913-338 Dual Driving Panel 1

4 913-339 Music Panel 1

5 913-340 Dino Spin Panel 1

6 913-341 Alphabet Panel 1

7 913-342 Bubble Panel 1

8 913-334 Post w/2Tab 6

9 913-335 Post w/1 Tab 2

10 116-529 5/16" x 3/4" Buttonhead Bolt 42

11 216-512 5/16" x 1" Buttonhead Nut 42

12 316-601 3/8" Flat Washer 42

13 316-501 5/16" Flat Washer 42

FOOTING
DIAGRAM

Typ 6 Pls
DETAIL A DETAIL B

Typ 36 Pls

13

10

1

11
12

8

SHEET 1 OF 2

13

5

11

12

9

10

RESIALANT
SURFACING

CONCRETE
FOOTING
TYP 8 PLS

KIDDIE KORRALKIDDIE KORRALKIDDIE KORRALKIDDIE KORRAL

5 4 3 2 1

902-880902-880902-880902-880


